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Part II:

l. (20 points) Due to the declining birth rate in Taiwan before 2012, we will have lower
working-age population in the future.
I.1.From the Classical view, please use a diagram to characterize the change of the
labor market equilibrium when there is a decline in the working-age population.
Moreover, please explicitly describe the details about how the system attains the

new labor market equilibrium (L’ = L") due to the change.

|.2.Suppose that the marginal product of labor (MPL) in the economy is given by
MPL=250-2L and the supply of labor is 80+w, where L is the number of workers.
and w 1s the real wage. If the government set the minimum wages equal 22, will
such policy cause involuntary unemployment? Please explain your answer.

I.3.Let’s assume that the economy has been in equilibrium for all the markets. Based
on the Keynesian view, what happens to the IS-LM-FE equilibrium and the price
level in the long run due to the fall of working-age population?

I.4.Let’s assume that the economy has been in the steady state. Let’s assume that the
growth rate of working-age population was 2% and has been changed to 1%
permanently since /=10. Based on the Solow diagram, please illustrate how the
consumption per capita evolves over time due to such a change, ceteris paribus
(all the other things being equal).

2. (10 points) A nation Titan produces yam and fishes domestically and uses gold as the
medium of exchange. In year 2011, the producers harvested 400 kilograms of yam
and caught 160 fishes. The residents can buy 4 kilograms of yam or 2 fish with one
ounce ot gold. In year 2012, the producers harvested 440 kilograms of yam of caught
176 tishes and they can buy 2 kilograms of yam or 1 fish with 1 ounce of gold.

2.1. It yams and fish are the only output of Titan, please compute the economic
growth rate of Titan.

2.2. Yesterday, a gold comet hit Titan. Since the time and the spot of the hit were
precisely estimated, nothing got damaged and it brought in the gold that doubles
the amount of gold currently in circulation. Why it is possible that knowing the
arrival of additional supply of gold may raise the price level right after the news
is released in 2012, rather than after the gold actually arrived yesterday?

3. (20 points) True, False or Uncertain:
Reminder: Please explain your answer. Otherwise, no point will be granted.

3.1. Based on the Fisher model, higher real interest rate results in higher savings for
all the individuals.

3.2. Higher government expenditure results in higher GDP.

3.3. Based on the Solow model, an increase in savings rate results in lower
consumption per capita.

3.4. For a closed economy, simultaneous increases in the expected future marginal
product and in the expected future income result in a higher real interest rate

and higher savings and investment in equilibrium.



